ila TAI LIEU ON TAP MON TOAN BANG TIENG ANH

MA+HS KHOI LOP 5 - BAI SO 1

- Chu dé Toan: SO VA PHEP NHAN

- Muc tiéu bai hoc: Hoc sinh c6 thé tim két qua nhan sb c6é mét chi sé va sb co

2 chir sé.

- Hoat déng: Bém va luyén tap!

Jumping Jacks - Nhay vé tay

o Ping thang chan dé sat nhau, tay dé sang hai bén.
o Nhun géi, nhay I&én. Khi nhay, tach hai chan réng bang vai. Vuon tay qua dau.
o Nhay vé lai tw thé ban dau.

High Knees - Nhay cao géi nhanh
o Prng virng, chan mé réng bang héng.
o Gio cao dui phai sat nguc va nhanh chéng ha chan xubng.
o Khi ha chan phai, ngay lap tirc gio cao chan trai ap sat nguec.

o Tiép tuc nhay cao va thay déi hai chan cang nhanh cang tét.

- Theerthach:

Thwc hién méi dong tac 18 1an. Lap lai mbi ddng tac 4 lan.
Héi, bé da thwe hién tdng cong bao nhiéu 1an cac hoat ddong?
m Goi y: St dung phép nhan dé thwc hién.
- Toan dé:
Bang phép nhéan c6 1&i (dang co’ ban)

Cau db nay duoc thiét ké dé danh gia kha nang thwc hién phép tinh nhan cia bé.
Poc va giai bai.



1) The cruising speed of a jumbo jet is about 900 km per hour. How far could it
travel in 2 hours? __g.:-ﬁ---f —

2) There are 0.7mg of iron in an artechoke. How many grams of iron in 2
artechockes?

3) A bottle holds ¥ pint of liquid. How much would 5 bottles hold?

4) How many seconds in 5 minutes?

5) An athletics track is 400m long. If | ran 3 times round the track, how far would
that be?

6) A football weighs 450g. How much would 2 footballs weigh?

7) 10 sheets of card are about 20mm thick. How thick is one sheet of card?

8) A pack of pens contains 8 pens. A box contains 15 packets. How many pensin a
box? c — —
Bai lam



- Dap an:
1) The cruising speed of a jumbo jet is about 900 km per hour. How far could it

travel in 2 hours?
900 x 2 = 1800 km per hour

2) There are 0.7mg of iron in an artechoke. How many grams of iron in 2
artechockes?
0.7 x2 =1.4mg of iron

3) A bottle holds % pint of liquid. How much would 5 bottles hold?
Yax 5 =2 Y% pints

4) How many seconds in 5 minutes?
60 x 5 = 300 seconds

5) An athletics track is 400m long. If | ran 3 times round the track, how far would
that be?
400x3=1200m

6) A football weighs 450g. How much would 2 footballs weigh?
450 x 2 = 900g

7) 10 sheets of card are about 20mm thick. How thick is one sheet of card?
20 + 10 = 2mm thick.
*** Trick guestion - this was a division question ***

8) A pack of pens contains 8 pens. A box contains 15 packets. How many pens in a
box?
8 x 15 =120 pens

- Luyén tap trwc tuyén tai IXL.com théng qua dwong link sau:

https://www.ixl.com/math/grade-5/multiply-by-1-digit-numbers-word-problems



https://www.ixl.com/math/grade-5/multiply-by-1-digit-numbers-word-problems

